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(‘eneral Instructions :

(i)  All Question are compulsory.
(it)  Marks for each question are indicated against it.
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(iii) Question number 1 to § are very short answek

questions and carry I mark each.

(iv) Question number 9 to 18 are short answel

questions and carry 2 marks each.

- (v)  Question number 19 to 27 are also short answél

questions and carry 3 marks each.

(vi) Question iumber 28 to 30 are long "answél

@HCe SRS aaaEtE e @\ e

2. Write the IUPAC name of [PIC12 (NH3)2].

[Pect, (Ni), | c@afa TUPAC w1t et

3. Arrange the following compounds in increasin
order of reactivity towards Lucas reagent :

CH,CH,OH, CH,CH(OH)CH;,
(CH,), C(OH)

22T-CHEM-BENG 2] Contil

0.

fERiRe @eelite qem Rerss 7 /i
Aierrolg BHEW Aele
CH,CH,OH, CHyCH(OH)CHy,

(CrE), C(OH)

Which compound is produced when ethanal is

heated with dilute NaOH solution ? - 1,

Bt @ @Y NaOH TR Rfemam & Seom
2q7?

Write one chemical test to distinguish between
methylamine and dimethylamine. ' 1

<l AR R e e TR iy ReiRa
GsiiEe @ TiRfiEE auize Ay o = T

Mention the hydrolysis products of sucrose. 1

reiter TERTaRe Rigwm SeAw wpef wm
@

What are the monomers of Bakelite ? 1

Wﬁ@ﬁ'_. T wssaf & e

22T-CHEM-BENG [3] P.T.O
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8. What is the coinyposition of tincture of iodine ? Z ﬂr\z% foc ST S5 90 | T TR T A

o 361 x 1078 em, AR g 7 0 | (FACH
AEART T = 63+ 5u; N, = 6-022x 102 mol ™).

‘ol o tAfa-a 5 & e

How many atoms can be assigned to its unit cell
(if an element forms (i) a body centered cubigh
(bee) cell and (i) a face centered cubic (fec) cell 2

Show by calculation. ;

G G (1) (RIPAY 9F T (bee) g
(i) ORI TG (A (foc) T T AT A0
QCF? NIE AR IS |

| State Henry’s law and mention its two important
applications. ) 2

@R @ (T4 G} 2 IS 7 TG AT
Tred Al |

) Calculate the equilibrium constant of the
| following reaction at 298 K

Cu(s)+24g" (aq) > Cu*t(aq) +24g(s)
Given, Eo; =0-46V 2
e RiteBa 208K GRroR AR A 1
FCA— ' ‘

Cu(s)+24g" (ag) > Cu**(aq)+2A4g(s)

10. A compound forms hexagonal close packed (hcp)®
structure. What is the total number of voids in

0-5 mol of it ? How many of these are tetrahedral
void ? | 2 2
ITGE I =T AFTe (hep) S197ge (AT 0-5 mol.

AfwIee Al (6 AFT WA For qufem FH
BOR T ? ol e, ES, =046V

Or/ el Or / 9

Copper crystallises into a fcc lattice. Its cdge
length is 3-61x 1078 ¢cm. Calculate the density
of copper. (at mass of copper =63.5u;
N, =6-022x10"mol™). : 2

The conductivity of 0-20M solution of KCI at

298K is 0.0248Scm ™ ; calculate its molar

« ® 2
conductivity.

| ' P.T.0
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13.

14. (a) Name the isomerism shown by the follow

22T-CHEM-BENG

" but Zn is not. Explain.

0-20 M sipoiw KCI a3 298K Tzerd

Cu G Zn L‘fiﬁﬁ)’W&i Argiafie v
BERee A7 | IS wEnee (e R
Reavar a1 28 5% R «iglb A e <4
| P I AN

pair of coordination compounds —

e e C0 qS R «ataa seang

IS el —

®)

compound which is used in medicine.

@9y 2T Iaze o6 ANedl el v

e |

Give one example of a co-ordinat]

121

[6] Cot

o (@
0-0248 Sem™~! | w=fow (et #ifaiZe) sdwr

(b)

""CHEM-BENG

Identify 4 and B in the following : |

O—Br+Mg df,VetIterA,A ffZO%B
Sieow R 9z 4 9k B e Tl

O‘Br-l—Mg e, 4 M0 . p

Write the structure of the following

compound 1
2—chloro—3-methylpentane

5 rent (QABA Ao ATFS ¢TI
2 @3- RRSCTEA

(, Complete the following reactions :

Cl

() @ + CH.COCI anhydrous A!Cl34)
l 3

OH

(ii) O + S0ClL, —> 2

Sros et Rfertef T wE

cl
¥ + CH,COC] =4,

(7] P.T.O



OH I8. () Name one chemical responsible for the
' | antiseptic property of dettol. 1
(i O +850CH — (VB G PR T Ao b !
i SIF AN (ST
17. Differentiate the following pairs of polyal
based on the property mentioned against o (i) Name one substance that can act both as
(i) Novolac and Bakelite (structure) | analgesic as well as antipyretic, :
() Bura-S and Terylene (1ntermolecular for (AT S G kﬂ%iﬁ e ‘gii 56
of attraction). | I AT
BETEl S |
W e 4ofq > reT I ‘
ol 2ren e — i 19. A solution of sucrose (molecular mass 342 ) 1s
] prepared by dissolving 6-84g in 100 g of water
(i) TTSEDIF @ [IFARS (5167) at 298K
) RS (ngcﬁﬁ TR, (i)  Calculate the boiling point of the solution.
Or / Al (K, for water, 0-52Kkgmol_1)- .1
Give one example of each of (i) Calculate the freezing point of 1thc: solution
. i, fi ter, 1. =,
(i) addition polymer (K for watet, 136 K-kgmol ) 1
(). .condetsation polymier (iij) Calculate the osmotic pressure of the
AT GG BRI WS solution at 298K (Density of water at 298K
-1
() NS AN =R =1g.mL™): 1
(i) TSI TN 9|
22T-CHEM-BENG [9] P.T.O
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298K GxWlW 100g e 6-84g LTI
(ST ©F 342 ) TATS I GF0 T3¢ 2EY
AT — ‘

() BB oAk e I | 1
(T#R K, 7 57 =0-52 Kkgmol )8
(ii) el Zass e <o |
(ot K 7 =1-86 K kgmol™")
(iii) 298K Tzwery waelfb wiedl sist st
ATl (298K THOTT TCeld I
=1gmL™") '

(i) 2-5g ethanoic acid (CH3COOH) is
dissolved in 75g benzene. Calculate
the molality of the solution. 1
(molccular mass of CH;COOH = 60u)

2. 5g BN (CH,COOH) 15g
QR wRrge 1 21 | Baefoa e

At 1
(CH,COOH < SR S 60u)

20. (@) A currentofl: 504 was passed through an
electrolytic cell containing AgNO, solution
with inert clectrodes. The mass of silver
deposited in cathode was 1-50g. How long
did the current flow ?

Or / G391

|
|

(@) (i) Boiling point of water at 750 mm of
Hg is 99-63°C. How much sucrosei
(molccular mass 342u) is to be added
to 500 g of water such that it boils al |
100°C ? Molal elevation boiling
point constant, (Kb) for water i§|
0-52 K kg mol ™. “
750 mm  HARW BITA &CeT Tgo %
99.63°C 1500 g TCa T ARSI TLE
(STeifRE ©F 342 u) (AN} FICET "FHAICH
W9 100°C 2E? TCed (NIefe] =

TR $3F (K,) T 0-52 K kg mol ™!

(Atomic mass of Ag=108u,
1F =96500C). 2

ot Rme i ffEn Trewaed Ry
AgNO, Tt s faca 1- 504 e bl
<l 20| G T WATE 1.50g Frerer
(silver) T 257 | RETR FO 7 NGRS

Ze1?
(Agd ARTARS &9 1084, 1F=96500C).

22T-CHEM-BEN " |
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(b) Given the standard electrode potential valu X B A I —
of some metals 41
Kt/K=-2.93V, Ag*/4g=0-807V, () YT (TR ARG AEG A (sol) G

| Ry @il FeeT |
Hg*" [Hg=0-19V, Mg** [Mg=-2-3TV. e Gl
CrtCr=-0.74V. | (i) RGN AT W RPeR Bl
PICA| .

order of reducing power.

G IO AP 2 3ERES [oa
ms T —

K*[K==-2.93V, Ag"[4g=0-80V,

mentioned :
(a) ~ Silica in the extraction of copper.
() Cryolite in the metallurgy of aluminium.

(c) Depressant in the froth floatation process.
1+1+1=3

: | kRS Aafoafite e mea wrelm e
21. (a) Define shape-selective catalysis. Give an | '

example of such catalyst. -

wiglo fafbeey R F1ceal (@ % : '

R 4 G T GAIRge Wi | (b) SO SAMT FICARIRE
(c) OFEIN (Tl AT GERAEIRESIT

critfcr=—0-74v. ,
Qrosfats Reie o S Ams |

(b) Explain what is obscrved when :

(i) An clectrolyte is added to hydrate

ferric oxide sol. Of VA- £ 5

(@) How is ‘cast iron’ different from pig iron ?

(ti) direct electric current is passed
» 1

through colloidal sol.

22T-CHEM-BENG [12] Contde| 22T-CHEM-BENG [13] : P.T.O



()

(c) Name one mctal which is refined by va
Arkel method ? )|

(@) ool e @R BB SRR AL e

(b) AN Rl Aafere Sewiifite Sicars i
A (NS A @0 | Qafer @ AT

©) I SEE AEfere oifds @3 4Igw |
TR |

23. (@) Write chemical equations for the followin|

processes :

. (1)) Chlorinc is passed through hot and
concentrated solution of sodiufll
hydroxide. !

(ii) Orthophosphorous acid is heated.
(b) Mention rwo uses of ,50,.
(@) < el aAfFRieliis Sogw
AT AR AP FCA —
() RS oIy GG 2RGNG Tt Tl
fca Gpifee st pifers <=t 2=
22T-CHEM-BENG [14]

Name the common elements present in ff
anode mud in electrolytic refining of coppé
Why are they so present ?

(i)  SEETEAE SiTee Selfite S 5 |
(b) HAEARRERS STST 76 I TEmd I |

Compare the chemistry of Actinoids with that of
the Lanthanoids with special reference to

(i) electronic configuration
(i) oxidation state
(iii) atomic and ionic sizes. 1+1+1=3

e e wfalem fofere mrgmEe ure wifEtee
CTPRLRS gerel I |

(i) BETE R
(ii). & o=y
(iii) “NANIRET R AFAT S|

Or /991

S .
(@) Zn™* salts are colourless while Cu®* salts
are coloured. Give reason. 1

Zn** TRPTR IV T Cu?t TRz 98 |
T R

RI-CHEM-BENG  [15] P.T.0



() Complete the following reaction equations &f*

() CrO¥ +Sn™*+H —
(i) MnO; +Fe*" + H" —
Siva Riraier Al i w1

() CrO¥ +Sn** +H — ’

1
|
|
|
|

(i) MnOj +Fe** +H"—

25. Write one gencral method for the preparation o
the following class of compounds with necessary’
chemical equations :

(a) Primary alcohol
(b) Phenol
(c) Ether 1+1+1

Seietr ool I AR el @l :
(@) @fZTA (Primary) SHRTCPRS

(b) T

) 2R

29T-CHEM-BENG - [16] Col

Complete and name the following reactions :

_ 2
(i) RNH,+CHCl+ KOH;,—>
(i) RCONH, + Br, + NaOH ——>
ﬁﬁ%ﬂ@ﬁf@ﬂf{ﬁﬂcf I =k Rigarelm

CILE G

(i) RNH,+CHCl + KOH,

ale ?

(i) RCONH, + Br, + NaOH——>

Give reasons why the aromatic amines are
weaker bases than aliphatic amines. 1

feTCafo SR eI SO o Sife e
Ve S | el e

What do you mean by Zwitter ion ? 1
TN S A RO A 0o R IR

What are essential and non-essential amino
acids ? Give one example of each. 2

SR G SRR S S &2 et
GG A TR M8 |

[.CHEM-BENG [17] P! 0 L0



28. (a) The rate constant of a recaction

()

()

22T-CIHEM-BENG

SO,Cl, CIf6a *feeal Fo ©lst RAifers

3x10% min~!. What
reaction ?

@Al @=io [iaz sifeea T
3%10?% min~' | Ricraifoa o e

is the order of

The concentration of a solution havill

concentration 0-24 M is reduced to 0-124
in 10 Aiours and 0-06 M in 20 hours. W
is the rate constant of the reaction ?

(It R 9t waces sivet 212w 10 389
0-24 M (qF T 0-12M T 20 TG
92 MG T9 0-06M T ’
foertEa W RefT st

A reaction, SO,Cl,—— SO, +Cl, is |
order reaction with half life peri

3.15x10%s at 320°C. What percentagy
SO,Cl, would be decomposed on heal

at 320°C for 90 minutes ?
S0,Cl,—— SO, +Cl, , |
Toltare [Tl @l 2w o Riem ) 320
Cwor RiEta o Gl 3-15x 101
320°C Smwiw 90 A Avw Tad @

[18] Co

(@)

(b)

1|.CHEM-BENG

or/E%dql -

For the reaction,

4NH, +50, —>4NO+6H,0,
The rate of formation of NO is
3.6 x 103 mol L's7!. Calculate the rate of
disappearance of NH;and the rate of
formation of H,0. 2

4NH, +50, —>4ANO +6H,0,

$oicare [JfEnfta NO 7 Seoma 27
3.6x10 3 mol Ls7" | RfeMors NH,T
Rl 2 @R 1,0 ¥ Sl I ot 1)

A certain reaction is 50% complete in
20 minutes at 300K and the same rcaction
is again 50% complete in 5 minutes at 350K.
Calculate the activation energy if the
reaction is of first order. , 3

300K SR 20 ffc o RfFas 50%
s =@ | 350K BweR iR i 50%
sl = g 5 faf s | [ es @
70t «fbe T «fe e S

[19] P.T.O



29. Answer the following :

N5 erefE Teg ve

(@) Why H,0 is a liquid whereas I1,S is g
room temperature ? '

AT T H,0 w3+ g H,S 9
(e 2

()  Arrange the following in increasing o
of acid strength :

AGle :

- HCIl, HI, HBr, HF

(c) Complete the following equation :
o ARG Fosjef <l

(d) Explain the bleaching action of chlori

@ﬁmﬁa@mﬁawml

22T-CHHEM-BENG [20] Co

Or / 991

Given reasons :

FRY Tl -

(@

(b)

(©

(@)

The bond dissociation energy of I is less
than that of CI,. 1

ClL, 4 OoIT - F 3 3o fRearee =& 31

Concentrated nitric acid renders aluminium
passive. 1

sip Al SHFted el SHERAN 4y
e =1

Draw the structure of XeOF;. 1
XeOF, CTaifba a1on ALFS Oz Ll |

Complete the following chemical reaction
equations : 2
(i) P,+NaOH + H,0O—>

(i) 1~ (aq)+H,0()+04(g)—>

e ARl R e 6 7l <= -
i) P, +NaOH+ H,0——>

@) 1 (aq)+H,0()+05(g)—>

WI-CHEM-BENG ' [21] P.T.O



30. {a)

(%)

How will you convert the following ? Givel
equations only.

> real ARTen Rel Wi T8 ? (@0
FRF |

(i) Benzene to acetophenone.
(@& (AT ST |

(ii) Propene to acetone.

AfP (AL SPGB |

An organic compound (4) (molecular
formula, C,H;0,) was hydrolysed with
dilute H,S0, to givc a carboxylic acid (B)
and alcohol (C). Oxidation of (C) witli
chromic acid produced (B). Write possible
structures of (4), (B) and (C) and give theit
[UPAC name. Write the chemical cquationg
involved in the process. - ;

(4) T&3 @i SN S 29 CHR 0,
G2 Qi ay I1,50, 93 AR 9
A0 ol R b (B) @) @b

[UPAC <% =cdt | aferaiftrs Tt am
Rfeaem A9 @

(b)

Or / %<7

Give one example of each of the following
reactions : 1+1=2
A ren RirmaFe afelba v Tazad
e

(i) Clemmensen reduction.

e Riea

(i) Cannizzaro reaction.

FifFecal [

A compound X (C,H,0) on oxidation gives
Y (C,H,0,).
reaction. On treatment with HCN, X’ forms
a product Z’ which on hydrolysis gives
2-Hydroxypropanoic acid.

‘X’ undergoes haloform

(i) Tdentify X, Yand Z and give their name
and structure.

(i) Write the equations of the reactions

" involved. ‘ 3

22T-CHEM-BENG [22] 10T-CHEM-BENG [23] P.T.0




&% @ X (C,H,0)-9 TR T

& @ Y (C,H,0,) 2¥e T X @

e R sgdamt T X @R

HCN (ifers @1 2 (9l SR 2 27 -

SR S5 2- 2Ry PR e
B '

() X, Y GR 2 (QISFTE e
Qo T G AN AT @Al |

(i) Rfenetm ol TF e

22T-CHEM-BENG [24]

(GROUP-B)
(For Old Course)
( 9FCAT ASTFTNE &)

|, Answer the following questions :

(@) Write the SI unit of surface tension and
viscosity coefficient of liquid. Vhx2=1

o5 '@ Ao BT ST G (T

() Choose the correct answer : 1

w7 Ted & A -

The pH of a neutral solution is
i 7

(ii) less than 7

(iii) greater than 7

(iv) none of these.

36 e B0 pH

@ 7

(ii) T -G (AT
(iii) 7 -7 @ @M
(iv) @R TG GI018 |

!|.CIHEM-BENG [25] P.T.O



(g) Write the structural formula of the following

‘(c) Arrange the following in the decreasi compounds 1,x2=]
order of bond polarity. P '
Ae> grat ool uf S fwom op re (AR oo TS e -
SIS ArEe — (i)  Ethanal 2T

HBr, HE HI, HCI (i) Methylamine fiaizs wifE

(d) Write the electronic configuration of copj () Explain why methanoic acid is a stronger

atom.
id than ethanoic acid. 1
oI A BTG RAUPT e a0 B
fRamfEe orfe AT Siftes o &
(e) Write one use of each of Helium and Ne R =ittt of it < |
2 3)
feferai @ s Ateg uaib W I9ga (i)  What is the order of the reaction if the rate
cquation is,
(# Choose the correct answer : Rate = K[4]" [BY [CT° 1
@ﬁ%@ﬁ%mmw i RiEram afeEram A,
The acid present in the vinegar is sfstas  =K[A]" [BY [C]” =&
(i) acetic acid it o § @0
(1) hydrochloric acid N
(z.zz) cunc'acld. () Fill in the blanks : 1 .
(iv) tartaric acid o PR
fofsticar 2 wnifef 251 3 Rl oo
(i) B e Ea;l%d?:ggon atom in G H, 1s
(i) 2Rg@hie Wit yOHEet )
(i) RTe =ik C,H, @ AT 2fels oidw =g
(iv) TSRO SfFe IS |
1)|-CHEM-BENG [27] P.T.O
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What do you mean by the order of a reaction ?
Derive an expression for the rate constant of a
first order reaction. 1+2=3

G5 e @ o0 S @R
se RS R sifeeraras eerrif e e

32. Calculate the number of atoms per unit
present in simple, f.c.c. and b.c.c. unit cellsi
1%3

¥4, fe.c. 8 b.ec. G7F (FIT S G ¢

LTI AR A FCA
Or / 91
33. (a) State the 2nd law of thermodynamic§
terms of entropy change. Define the following terms : 1x3=3

(i)  Activation encrgy

aaget viﬁawﬁ%wwmﬁﬁw 2\
AT TR |

(b) For the following changes, state whether 2

(ii) Temperature co-efficient

(ii) Half life period of a reaction.

will be +ve or —ve ? VA%) Tl RoufR ke WS
M SRS Ao aey e o () T e

AS -7 T 4R G (@A0T oo el () TR wdlE

AT

i) RiTar wd@Rmee|

i) ccl, () —>CClL(g)
|, Define specific conductance and equivalent
conductance. 1x2=2

RS AR O T ARRIEoR AKed W |

(ii) - CoH, (g)+2H2 () —>CyHg(g) ¥

(c) What is the value of frec energy chang
equilibrium ?-

AR o AR W A T2 I, The standard emf of the following cell is 0-93 V.

22T-CHEM-BENG [28] * Cotl} 1|.CHEM-BENG [29] P.T.O



37.

22T-CHEM-BENG

Calculate AG" of the cell.

A5 Trerd 1 (Rl @ Kot W 093
@R0T AG°-9F T 9= I

Or / 937

Can an aqueous solution of copper sulphat
stored in zinc container ?

(Given Eg‘;h Jou =0°347, E°

Zn2+/Zn =04 !

A ATCPOT TAT G0 G301 & Ag AG
! AR e
(sl TR, _
4 0 =1(). 0 0 = —(). {
EC112+/CM =0-34 V’ EZJ|2+/Z)1 0-76 )

Select two Lewis acids and two Lewis bases (i
the following :

rareafe (A 7 fred wnfe s 76 fiesyr
(ACR A8 :

AICL; NH,; CO,; BF,; OH ; R—OH.

[30] C

=

| CIITEM-BENG

What volume of 10% ("%) solution of Na,CO;
will be required to neutralise 100mL of HCI
solution containing 3-65g of HCI? 2

3-65 &N HCIwdige 2e7t 100157, HCI 49 G910

2ifile TS Nay COy 47 10% (W) wael afba
TS SRS ST 7

Or / g3

What volume of 0-1N H,S0, will be required
to neutralise 0-53g of purc Na,CO, ? 2

0-53 & Rem Na, CO, 2o 3Ts 01 N Npo
H,50, G0 T T LTS ?

What do you mean by the ionic product constant
of water ? Mention the effect of temperature on
ionic product constant of water. 1+1=2 .

YT YT @99 Teld Aol Trad IE! |

Define common ion effect ?
Explain why aqueous solution of NH,C! is
acidic. 1+2=3

[31]

PTTO



Show that the dissociation constant of a W

acid HA is expressed as

2
_avc
k“—l—a'

where @ is the degree of dissociation of thes '

and ¢ is its molar concentration.

ol (4, Gt Y oS HA ¥ Reares

k — OCZCJ
I 21
QI o 2 Spbeid R Sidal @R ¢
CEN ST |

41. Define hydrogen bond. Mention two typé

hydrogen bonds with example.

FRGITEA TFAT G @ | 7T TR
IFA Sy IR CAIRI WS |

22T-CHEM-BENG [32]

Explain why the bond angle of H20(104 . 5°) is.
higher than that of H,S (92°). 2

H,07 <& R W (104-57) HyS 1 T
@I T (92°) BT TG G, O <RI |

Or / G9!

Draw the energy level diagram of molecular

orbitals of N, molecule and indicate its magnetic

property. 1YVot=2
N, TECGIE SF el SRR IR Ba

ol R O PR 4 Grad Il |

Explain with diagram the structure of methane

molecule using the concept of hybridization.
| 2

AT 4l 2T I AT SR Ao G
|

all 22T-CHEM-BENG [33] . PTO



44. (a)

O_r / gl

Give reason why (in one or two sentences) &
1x2=F

TR orate, @ (G At 7o AF0S) j
(@) H,O is aliquid but H,S is a gas at ordinal
temperature.
e Sl [,0 5 6 H,S U

(b) Metals are good conductor of electricity:

general method for the preparation Of
halogens other than' fluorine. Why fluoriil

cannot be prepared by this method ? [
2+1 !

EEEORE ORI Gb! AR A4l
(1 | B SEIore Fie eFo T T AN (F

() Explain why sodium metal is stored und : 16.

kerosene oil.

| 15. Describe the Parke’s process for separation of

silver and lead from an alloy of the two. How is
silver separated by this process purified ? Mention
the composition and one use of Brass.
2+1+Yatlo=

Piereid (silver) 8 (FT0SH (lead) R AIg (AT ATHE
PP &) AT “{FToM I P | G2 ARfSTS
595 T FeTo (silver) PO (Naw 41 27 2
Aot AT G Al IR @Al

Or / gt

Describe the manufacture of steel from cast iron by
Open hearth process. Give necessary chemical
equations. Mention two advantages of Open hearth
process over Bessemer process. 2+1+1=4

TE-HETT AGOCS IP6 ST (AT FooT TeAM
SO I T | ATAGTA IR T TS |
@B ~afed O JE-FATE wes g7 SfEs
ART A Sra T

Write any one method of preparation and one use
of Bleaching powder or Glauber’s salt.  1+1=2

RGN 4glE (P (PP o 7 i ~ifSei ey 2_17-97 719, @B 4oR ¥ (e
! =7, of Y I G5 40! AFeZAe ¢ Gl IR A |
22T-CHEM-BENG [34] | 1) -CHEM-BENG (35]
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47. (a) Write [IUPAC name of 1x2=2
IUPAC I3 CeTeal

(i) K4_[Fe(cm6]
(i) - [Cu(H,0),] S04

(b) Define transition elements.
FEGEHPNE CCET ALE (el

48. Apply Huckel’s rule to show that benzene i§
aromatic but cyclooctatetraene is not.  1+1=2

| A G 2T I (A8 (T (TS
58 ARFISBOGRA ST« |

Or / 9

reagent.

SRR R ¢ e Reoes 7dl
e | :

49. Explain why ethyne is acidic in nature. Defing
optical isomerism. Why 2-chlorobutane i
optically active ? 1+1+1=3

22T-CHEM-BENG [36]

2B (o SHIFTE 1 S 2Ted, ©f TR 9 |
SCEIRE ARSI 7eel A8 | 2Rl RSTBH et
Hferw (@2

Or / 931

What are carbanions ? Arrange the following

carbanions in decreasing order of stability.
1+2=3

S -l e A (a7 IF-GIRASTS

ﬁfizw [BEGR Wrca AEE — :
@) Q

CH3 ; (CII3) c; CH, CH, ; (CH,),CH

How will you convert the following ? Give
equations only : (any three) 1x3=3

A ThRiRe sfstale F 30 Wi (& @A
f&=if5)

(a) Benzene to phenol

@Hﬁ:ﬁlcﬂwﬁﬂﬁl-

(b) Methanol to ethanol
AT (A 2T

(c) Acctic acid to methylamine

SIS i (At e aaiR
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(d) Phenol to salicylaldehyde
Pt (AT EHARETEICRIRG |

51. Answer either (a) and (b) or (c) and (d).
(a) &R (b) YA (c) IR (d) T Teq (Ml |

(a) Identify 4, B, C and D in the followi
Vox4

R rent Rigefiite 4, B, CW8 D7

reactions.

Al

(i) CH,COOH

7

LidlH, , ~_SOCL_, p

(i) CH,COCH,

() How will you distinguish between 1° 8
2° amines by the reaction with nitrous acid

25 enifFTed s RigRIs AR 17 @< |
aiRTAE AR e | |

(c) Give one chemical test o distingul
between ethanol and phenol.

22T-CHEM-BENG

Or/ G0

[38]

Ca(OH),  diy distillation

%W@Wmﬁﬂmmmaﬁ
FAERS [ e

(d) An organic compound (A) reacts with PCls
to produce another compound (B). (B)
reacts with magnesium metal in prescnce of

cther to produce a Grignard reagent (O).
(C) reacts with ethanal and the product is
hydrolysed to produce propan-—2-ol. 1dentity
(A), (B)and (C) and explain the reactions.

. 3
" 35! CERal (), PCls -« e Rl v
o @<l TeEe (B) oot w1 (B) (i
SR TifafoTe SHsICATaIS Qs At R
0 RS B (C) Sedld I 9B (C)
(91T BCTeT e el 3 Tesifre T
S RGCAE A eAolI-2-S] BeAAH 2|
RfrrefRm 9o FTa (4), (B)S (C)CATSFR
AAGEFI S|

Briefly describe the manufacturc of ethanol from
starch by fermentation process, mentioning the
role of enzymes in this process. (Give nccessary
chemical equations). N 2
R AT I 516 (AT R A T
efipel fRaet e | 910, alfeIies N A ACIERIE
BT AT | (TR ST A wie)
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Name the organ of secretion and one princi
function of (@) adrenaline and (5) insulin.

SN *HEE (T TS Ao (@) SuifGiafm
(b) TR e R, (IfoR A (51 oI €3
yioa Gl I ey PRiFFeR [aw S s

53. (a)

(@)

22T-CHEM-BENG /*4  [40]

{

Or / 927

What are analgesics ? Name one antipyr
and one antimalarial. 14-/5+Y5=2

(@RS T2 G GIAT ¢ Gp
ARSI AN (&0 |

Answer the following in brief :

St WHEre Ted (@l ¢

(i) Name the monomer of natural rubbs

(i7) Name the raw materials used f
manufacture of Nylon-66.

IZETH-66 TRAMCR Siely 270 DI

AN TR



